Class Example p. 103 for Friedman Test
Example 17: 
HLUBNWFSFKIGIHMGBSIMMBSEJMAFUTQECIILJSUBBAXMAJCWXCMBSGZGGSMKBHUQBETVUSMLMERCFDTWUBASWERFIELOMVYSIMMYYEDDMMSGZANCOFYYTIHLJRYOHKLOFHIEFKQOFAAIZGIEJHAKNZJSQRUQXDKWHSNNFAOUMOROFAAIZPIQYHQFYSWEFKILDPQGIXUEADFWNNFVYOTRXRGQKRUSHVYHAGYONTTZISIEPUOFXAZRNZTSQKBGIISMIMIISMIMXHAHUFZNMFGWIMMBQWQLTSMZTUXRBSAEMFGWIHUAMWQFFVCKNSMTIJYYRCOJRASBOEYHQAIKYPAKYJKUXVUFIGGBCFYHQKIJQDFVULBOGZXTQOIMIMWHQOXUQEMBIXKYAIBSAEFCUKPYAILKJLRRIQTURSYDQUOYSOJLXRIQTUBIHC
Exercises

1. For each of the following ciphertexts, use the Friedman test applet to find the index of coincidence, and then use the index of coincidence to determine whether the cipher that produced the ciphertext is more likely to be monoalphabetic or polyalphabetic. Also, for each ciphertext, assuming the cipher that produced the ciphertext is a Vigenere keyword cipher, use the Friedman test Maplet to estimate the length of the keyword for the cipher.
(a) 
SCZOPCOIFFBOMTVBFBHZOGFBDPJFIJISCSLHVQEGPZISTSSBHZOHEIWJFPXRORPITPBAQFWWBWRORJVKJBQLVUVFVUNCSMVUVBRYFTLYXIHXVLTGFEEJBQLVGCRVKIALZZFOKEDBHBYIJBQLVGWCXYNCSMVBBAJZOOIPPBHEVVFFLYEESULZCWQMFOWKXYFGFBKIALZZFHEIJFALZZFGQYIOSAWPMJBWKFFPXRMZLRVJBQSRXSIPBOCTRRDHLV
(b) 
PAPCPSRSICRKILTGYFXGETWAIJIUPGRLTGHACMOQRWXYTJIEDFNVEACZUUEJTLOHAWHEETRFDCTJGSGZLKRSCZRVLUPCONMFPDTCXWJYIXIJHTTAMKAZCCXWSTNTEDTTGJMFISEGEKIPRPTGGEIQRGUEHGRGGEHEEJDWIPEHXPDOSFICEIMGCCAFJGGOUPMNTCSKXQXDLQGSIPDKRJPOFQVVXYTJIEDFNVEACZUUEJTLOHWGJEHYIKIPRPZAGRIPMS
(c) 
FWPSIDTSAGSDODYMGYUIPXJRSGLPXHHQSECTHRJVACNMCYSLTHMCIRKTSAAYDBPWNJSZSOJUGLUELYBVWEUXGYEXNOOTYFXYAEXIHRURTLBGXYIDRYNRJTZYBREMECFARTVRDTHVJPOFLIGSRFFSYEECYZZLRFVTEJLBJWIYYBRGRSVJNGLRNOTCAKKHPJOYSXY
(d) 
EVKEFXYELZXTZUKMGKLEWUIPREMNWNVIGKLCWHKYKPEPWLJSGEEMWXKLHDESTYRPXSYRAYUKHCHAFXAIPVPSOIIXARLUYYJYFFJMGHVCGVERTYUJHIHVALXMGZEBWUCIXEGRQJKIWKLEDITEMZSNGZKLXKVESMLVXRRDANJFXEIFSWKSKJMNLBIIXUSCMGVRMJSNDSFRXFJTZYJIWFGUEYEXLYESWPVVUVINVYTVRGXEVNYIXEGRQJKIWUSCMGVRMFYTDCEMGXXHWJIIVZWEDITEMZSNGZKLXKVESMLVXYESFYMIKSIEFXVGKPTTWXVZXEXHGOXLFRRYHYFTEVMNUFLHBEKSGGVJKFQTZYEWTYEVWNIMXU
(e) 
JZQSDCWZJHDUJZQDGSQDQJZQTCDGJJUTLYERECDXLERQOEDKURCCRP 

RJQNJZQDENCUQNCGURCRPQRJQNJZQLCWZJHMLHERNRECGOCJZCRPQRJ

QNHEGIQJHELL
